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NMDNMS - NOVEMBER, 2019

MENTALABILITY AND
SCHOLASTIC APTITUDE TEST

Time : Part - I 20 Minudes Miax, Merks 90
Tirme : Part - 11 : Y0 Minutes Max, Marks: 90

Instructions to the Candidates

Head the following instactions carefully before vou answoer the guestions. Anseers are te b
SHADELURRSEPARATE ziven OMIE Answer Sheel with o Black Ball Point Pen, Read the
Instractions printed.on the OME Sheet'carefully.belore answering the questions.

L.

n

Plense wrue your Ceotre Code Mo, and Roll Noowery clearly tonly ane digic in ona Tlock)
o the O Sheet as given in your adnussion card. Please see thatno Block 15 lell unlilled
and cven Zevos uppearing in the Ceotre Code Mo, are vorrectly transferred w the
appropriale blocks on the QMK Sheet as shown in the example prvan in the Ol Sheet.
Forall subsequent purposes, your Contre Code e, and Ralr Ao, shall remsino the same as
given on the Admission Card,

The Test iz i TYWO Farls, Part-1 consists of 90 questions and Part-10 al50 consises of
20 questions.

All questions in Part-1 and Fart-11 caery ome marl each.

Sinee all questhons are compulsory, do nof ey (o rend throgh ihe whoels guestion papet
Iretore beginnitg o answer .

Begin with the first question and Keep trving one question aller another il vou [inish
bk the Pars.
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a.

L1 8

11,

13,

LEvou do ot know the answer to any guestion, do not spend much time on it and pass un
to next onc. If time permits. you can come back 1o (the questicns which youn have lelt out
ity the First instance and tiv them again.

Since the time allotded o the two parts of this question paper 15 very hmited, vou shoold
make the best use of if by not spending too much time on any question,

A bBlank page 15 provided for rough work at the end of each part.
Remember, you have 1o shade answers on a separate (VR sheet provided.

Answerto cach question is 10 be indicated by SHADING the circle having the number
nf the correct aliernative in the QMR Sheet fcom amung the ones given lor the
corresponding question in the booklet.

Mo tut to the next page and start answering the questions.

Afler the examination, ¥ou should hand over the OME Suget to the Tovigitator of the
T{ICHTY.

The candidate need nof return this Question Paper Booklel and can take it alter the
completion of the examination. No candidate shonld leave the examination hall before
the end of the examination,

I'his Boaklek consists of 31 Pages for 130 Chuestions + 03 Papes obRough Work ~

B2Title Pages i@ TomEt 3o Pafes
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Part-1: MENTAL ABILITY TEST
Time : 90 Minutes Max. Marks : 94
Mote : SHADE the correct alternalives in the OME Answer Bheel provided, from amongsat the

ones given against the corresponding questions in the Question Paper lookler. For
shading the circles, use a Black Ball Peint Pen.
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SPACETOR ROUGH WORK
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SPACE FOR ROUGH WORK
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Part- Il : SCHOLASTIC APTITUDE TEST

Time : 9} Minutes BMMax, Marks : O

Hoke :
1} Sualbyect, Question Mo, and Marks alloteed:

81 No. | Suhbject | Question No, Marks
I Physics 1o 102 12
2 Chermistry . _HTZ‘- 10 113_ i 11
A N Baology 11415G (25 12
3. Mathematics 126 10 145 20
% Hastory 14610 155 11
& Ueogtaphy 136 to 165 L
% Folilival Seienee lab lo 175 . 1 =
K. Ecn.nr.-mics l?ﬁ-tn | &L _U,"]_

i}  SHADE the circle having (he comest allernatives in the OME Answeor Sheet provided,
froon amongst the anes given against the corresponding questions i the Question Puper
Bovklel, For shading (he curcles, use a Black Bell Point Pen.
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CHEMISTRY
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